
What Is Your Retirement Number? 
 

The Eighty Percent (80%) Multiplier Rule 
 
The 80% Rule suggests that you should target an income that is around 80% of your pre-
retirement income (in the year before you retire) in order to sustain your current lifestyle during 
retirement. * 
 
* Source: Commerce Clearing House, 2003 
 
To figure out where you stand, consider what percentage of your income you are currently saving for 
retirement. 
 
For example: 
 
(1) According to a data analysis released August 28, 2024, by Fidelity Investments, which based its 
conclusions on 24 million 401(k) accounts, participants' average investment rate into their 401(k) was 
9.4% of their income in the second quarter. 
 
If you currently invest 9.4% of your income in your retirement plans - 401(k), 403 (b), Defined Benefit 
Plan, SEP IRA, IRA, etc. - you will no longer have that 9.4% expense once you retire. 
 
(2) If you currently pay Social Security payroll taxes of 6.20% plus Medicare payroll taxes of 1.45%, 
totaling 7.65% of your income - you will no longer have that 7.65% expense once your retire. 
 
(3) Assuming the combined impact of items (1) and (2) above, you can retire and live on approximately 
82.95% (100.00% - 9.4% - 7.65% = 82.95%) of your pre-retirement income, while maintaining your 
current lifestyle, without making any adjustments to your spending habits. 
 
Variables (1) through (3) above do not take into consideration that many pre-retirees, especially high 
income earners, save more of their income than just their 401(k), 403 (b), Defined Benefit Plan, SEP IRA, 
and IRA contributions – and will no longer have that expense when retired. 
 
Next, consider all of the work related day-to-day expenses that you will have no longer have during 
retirement… gas, auto maintenance and repair, tolls, dry cleaning, etc. 
 
Then, consider what percentage of your income you may save if you downsize your home where you live, 
move to an area with a lower cost of living, move to an area with a lower cost of living and downsize, etc. 
 
For example, the cost of living in Tampa, Florida, is 23.90% lower than the cost of living in Stamford, 
Connecticut. Retiring from Stamford to Tampa can further lower the percentage of your pre-retirement 
income that you can live on, while maintaining your current lifestyle, without making any adjustments to 
your spending habits. * 
* Source: www.bankrate.com/real-estate/cost-of-living-calculator/ January 14, 2025  
 
Note: Read the Cost Of Living drop down tab under the Retirement Income section of this web site to 
learn the significant difference in cost of living from one city to another.  
 
You also may receive a substantial net sum of money from the sales proceeds of your current home versus 
the purchase cost of a new home that you downsize to, that will help fund your retirement income and 



lifestyle. 
 
Lastly, when you begin collecting your Social Security benefits, you can live on an even lower percentage 
of your pre-retirement income, while maintaining your current lifestyle, without making any adjustments 
to your spending habits. 
 
Social Security benefits typically account for a higher percentage of the overall retirement income for low 
income earners and middle income earners… and account for a lower percentage of the overall retirement 
income for high income earners.  
 

How Does The Eighty Percent (80%) Multiplier Rule Work? 
 
The 80% Rule consists of a relatively simple and straightforward 9 step process. 
 
Steps 1-5 of the 80% helps you determine Your Retirement Number - the amount your retirement nest egg 
needs to grow to by the year you plan on retiring - to accomplish your goals for retirement.  
 
Step 6 helps you determine the future value of your current retirement investments by the year you plan 
on retiring. 
 
Step 7 helps you determine the investment shortfall, or excess, your current investment portfolio is 
projected to have by the year you plan on retiring. 
 
Step 8 helps you determine the annual investments required to achieve Your Retirement Number by the 
year you plan on retiring. 
 
Step 9: Life happens, circumstances change, and your retirement needs may change with them. 
Periodically revisit and revise Steps 1-8 of the 80% Rule, at least annually. 
 

     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



EXAMPLE: The Eighty Percent (80%) Multiplier 
 
 
For purposes of analysis, let’s assume: 

(a)  you are 57 years old, 
(b)  your current annual income is $150,000, 
(c)  you have a future target retirement date in 10 years at age 67. 

 
 
Step One: 
Enter your Current Annual Income in the first space under Step Two. 
 
 
Step Two: 
Multiply your Current Annual Income by the eighty percent (80%) multiplier, and then enter this 
number in the second space. This will provide you with an estimate of the Annual Retirement Income 
Needed Before Social Security (in Current Dollars) that you will need during retirement. 
 
Current Annual   80%    Annual Retirement Income Needed 
Income    Multiplier   Before Social Security 
$    150,000    x 0.80 =   $    120,000 
$ ________    x 0.80 =   $ ________ 
 
 
Step Three: 
Subtract your Estimated Social Security Benefit (this figure can be determined from your Personal 
Earnings and Benefit Statement from the Social Security Administration web site at www.ssa.gov) from 
your Annual Retirement Income Needed Before Social Security (from Step 2), then enter that number in 
the last space to determine the Annual Retirement Income Needed After Social Security. For purposes 
of this example, let’s assume your monthly Social Security benefit is $2,500/month ($30,000/year) when 
you retire in 10 years at age 67.  
 
Annual Retirement Income  Estimated Social  Annual Retirement Income Needed 

Needed Before Social Security Security Benefit  After Social Security 

$    120,000    -  $36,000 =     $      84,000 
$ ________    -  _____ _ =   $ ________ 

 
     

Step Four: 
Multiply the Annual Retirement Income Needed After Social Security (from Step 3) by the Inflation 
Factor (see Inflation Factor Table on next page). For purposes of analysis, let’s assume a 3% inflation 
rate for 10 years that corresponds with the number of years until you plan on retiring. Enter that number in 
the final space to determine your Future Additional Income Required. 

Annual Retirement Income   Inflation   Future Additional 

Needed After Social Security  Factor    Income Required 
$      84,000    x 1.3439 =   $    112,888 
$ ________    x _ ____ =   $ ________ 
 
 



 
 
 
 
 
 
 
 
 
 



Step Five: 
Multiply the Future Additional Income Required (from Step 4) by the Income Generation Factor (see 
Income Generation Factor Table on next page). For purposes of analysis, let’s assume a 25 year expected 
life span after retirement (age 67 to age 92) and a 6% return that corresponds with the rate of return you 
expect to achieve on your investments. Enter that number in the final space to determine Your 
Retirement Number. 
 
Future Additional   Income Generation  Your 
Income Required   Factor    Retirement Number 
$    112,888    x 12.7834 =     $   1,443,092 
$ ________    x ______  =   $ _________ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 
 



How Do You Determine The Return On Investment That You Expect To Achieve On Your 
Investments? 
 
The Income Generation Factor that you use in the calculation above (see Step 5) is determined by the 
expected performance of the investments that you hold in your retirement account(s). 
 
Although past performance is not necessarily indicative of future returns, for purposes of this worksheet, 
select a weighted average return that corresponds with the type of investments that comprise the holdings 
in your retirement account(s). 
 
For example, if your investment portfolio consists primarily of CDs, bonds and fixed annuities, then a 
3.00% to 5.00% average long term return would be reasonable.  
 
If your investment portfolio consists primarily of an asset allocation of Equity (stock ETFs and stock 
mutual funds) and Fixed Income (bond ETFs and bond mutual funds), then the following average long 
term returns would be reasonable: 
 
Investment Portfolio Allocation     Estimated Long Term   
Equity* Fixed Income**     Average Return 
50%  50%       6.00% 
60%  40%       6.40% 
70%  30%       6.80% 
85%  15%       7.40% 
100%  0%       8.00% 
 
Notes: 
* Equity allocation assumes an 8% average annual return. 
* Fixed Income allocation assumes a 4% average annual return. 
 
 
Step Six: 
Enter your Current Value Of Retirement Investment in the first space. For purposes of analysis, let’s 
assume you have $627,500 in a 401(k). Look up the Investment Growth Factor (see Investment Growth 
Factor Table on next page). For purposes of analysis, let’s assume 10 years to retirement and a 7% return 
that corresponds with the number of years until you plan on retiring and the rate of return you expect to 
achieve, and then write that number in the next space. Next, multiply the total current value of your 
retirement investments by the Investment Growth Factor and enter that number in the last space to 
determine the Future Value Of Current Retirement Investments. 
 
Current Value Of   Investment   Future Value Of 

Retirement Investments        Growth Factor  Current Retirement Investments 

$    627,500    x 1.9672 =     $   1,234,418 
$ ________    x _____  =     $ _________ 
 



 
 
 
 
 
 
 
 
 
 



Step Seven: 
Write Your Retirement Number (see Step Five) in the first space. Write the Future Value Of Current 
Retirement Investments (see Step Six) in the second space. Next, subtract the Future Value Of Current 
Retirement Investments from Your Retirement Number, then enter that number in the third space to 
determine the Retirement Savings Amount Still Required. 
 
Your      Future Value Of    Retirement Savings Amount   

Retirement Number   Current Retirement Investments Still Required 

$   1,443,092    - $   1,234,418 =   $   208,674 
$ _________    - $ _________ =   $ _____ __  
 
 
Step Eight: 
Write the Retirement Savings Amount Still Required (see Step Seven) in the first space. Look up the 
Savings Factor (see Savings Factor Table on next page). For purposes of analysis, let’s assume a  
10 years to retirement and a 7% return that corresponds with the number of years until you wish to retire 
and the rate of return you expect to achieve, and then write that number in the second space. Multiply the 
Retirement Savings Amount Still Required by the savings factor, and then enter that number in the third 
space to determine the Annual Investments Required To Achieve Your Retirement Number. 
 

Retirement Savings Amount Savings          Annual Investments Required To 

Still Required    Factor    Achieve Your Retirement Number 

$    208,674    x 0.06764 =     $      14,115 
$ ________    x ______  =   $ ________ 
 

     
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 
 
 
 
 
 



Step 9: 
Life happens, circumstances change, and your retirement needs may change with them. 
Periodically revisit and revise Steps 1-8 of the 80% Rule, at least annually. 
 
It’s better to adjust your retirement plan as you are able, rather than struggle to catch up down the road. 
 
Summary 
 
Now that you have an understanding of the 80% Rule, and how to determine Your Retirement Number by 
the year you plan on retiring, the next step is to determine how much you can withdraw from your 
retirement nest egg during retirement, without running out of money. 
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